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import sklearn.datasets as ds

L=

BRITHIRSE
SRRBHIRE.

X, y = ds.load_iris(return_X_y=True, as_frame=True)

samples_num = X.shape[0]

features_num = X.shape[1]

print('samples:', samples_num)



print('features:', features_num)

features_names = list(X.columns)
iris_names = set(y)

print('features_name: ', features_names)

v

print('iris_names: ', iris_names)

X_head = X.head(3)
print('X_head:\n', X_head)

samples: 150
features: 4
features_name: ['sepal length (cm)', 'sepal width (cm)', 'petal length (cm)', 'petal width (cm)']

iris_names: {0, 1, 2}

X_head:

sepal length (cm) sepal width (cm) petal length (cm) petal width (cm)
0 5.1 3.5 1.4 0.2
1 4.9 3.0 1.4 0.2
2 4.7 3.2 1.3 0.2

BTEEmS
BPEESeS

X, y = ds.fetch_california_housing(return_X_y=True, as_frame=True)

samples_num = X.shape[0]

features_num = X.shape[1]

print('samples:', samples_num)

print('features:', features_num)

features_names = 1list(X.columns)

house_min, house_max = y.min(), y.max()




print('features_name:

, features_names)

print('house_min, house_max: ', house_min, house_max)

X_head = X.head(3)
print('X_head:\n', X_head)

samples: 20640

features: 8

features_name: ['MedInc', 'HouseAge', "AveRooms', 'AveBedrms', 'Population', "AveOccup', 'Latitude', 'Lon

house_min, house_max: ©.14999 5.00001
X_head:

MedInc HouseAge AveRooms AveBedrms Population AveOccup Latitude

0 8.3252 41.0 6.984127 1.023810 322.0 2.555556
1 8.3014 21.0 6.238137 ©.971880 2401.0 2.109842
2 7.2574 52.0 8.288136 1.073446 490.0 2.802260

Longitude
0 -122.23
-122.22
-122.24

N

HERiaR

BEARANEN 1000, FHAENEA 3, BEHLIIA 10 MREE.

import numpy as np

from sklearn import linear_model

n_samples, n_features = 1000, 3
n_outliers = 10
noise = 0.5

bias = 2

X, y, coef = ds.make_regression(n_samples=n_samples,

n_features=n_features,

37.88
37.86
37.85

\




23

24

25

26

27

28

29

30

n_informative=n_features,
coef=True,
bias=bias,

noise=noise)

X[:n_outliers] 3 + 0.5 * np.random.normal(size=(n_outliers, n_features))

y[:n_outliers] -2 + 10 * np.random.normal(size=n_outliers)

n_samples, n_features = X.shape[0], X.shape[1]

print('n_samples:', n_samples)
print('n_features:', n_features)

print('coef:', coef)

1r = linear_model.LinearRegression().fit(X, y)

lr_coef = lr.coef_
lr_intercept = lr.intercept_
print('lr_coef:', lr_coef)

print('lr_intercept:', lr_intercept)

n_samples: 1000

n_features: 3

coef: [80.37989479 10.59685683 71.20514016]
lr_coef: [67.21466504 -2.7159688 59.12540121]
lr_intercept: -2.2554901024828964
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